EVALUATION KIT FOR PA50/PA52 POWER OPERATIONAL AMPLIFIERS
EK27 B 4% 41 M H 886-3-5753170

4 ) L (i) 86-21-54151736
45 b B (81 86-755-83298787

MICROTECHNOLOGY

INTRODUCTION

This easy-to-use kit provides a platform for the evaluation of

linear power amplifiers circuits using the PA50/PA52 pin out. With

ASSEMBLY

Http://www. 100y. com. tw

During assembly refer to Figure 1

ample breadboarding areas it is flexible enough to analyze a L ggtee;??rt]eei(i:rr::ﬁ:trc&ta?ga(rndots'ﬁ;'i(')?snggzgi ;a%gqi;hs%grgﬁg
multitude of standard or proprietary circuit configurations. Critical solder cage iack MS04 at pins 1-12 Bgsure that the cage iack
connections for power supply bypassing are pre-wired. Compo- its flush g 'tJh th ’ pfth e it board g€y
nents not usually readily available in engineering labs are provided. 2 ‘;"Osl‘ deursth(;Nslurfa(?e?ﬁ(r)Srfteccérarr?i((::lcrguiacit%?; t'o the component
External connection to the evaluation kit can be made via the : of the circuit board at C3-C7 p P
terminal block and terminal pads at the edges of the circuit board. 3. Mountthe electrolytic capacitbrs atC1and C2 from the compo-
The_terminal pa_ds ars s_uitable fgr solderin_g _standard t_)angnajacks ' nent side of the circuit board and solder from the circuit side of
or direct soldering of wires. The schematic is shown in Figure 2. the circuit board. Note polarity and be sure to fill the holes with
solder. Use correct voltage capacitor for your application.
BEFORE YOU GET STARTED % Sicuit board. Make sue the torminai stip ot flat aganst the
*  All Apex amplifiers should be handled using proper ESD precau- circuit board and be sure to fill the holes with solder.
tions. 5. The PA50/PA52 does not have a current limit function. How-
* Do not change connections while the circuit is powered. ever, you might plan to construct such a circuit for yourself. The
* Initially set all power supplies to the minimum operating voltage circuit board is designed to facilitate that step. If you do not plan
allowed in the device data sheet. to design a current sensing circuit use heavy wire to jump the
resistor mounting holes at the location on the circuit board
labeled "OPT" and skip to step 8.
6. Apply thermal grease to the back side of the resistor and mount
PARTS LIST the resistor to the HS28 heat sink provided with #4 screw and
Apex Part # Description uanti nut. Leave the screw somewhat loose until the resistor is
ngg Heatsiﬁk (l? Y soldered to the circuit board. Three current sense resistors are
HS18 Heatsink 1 provided as well as a heat sink for those resistors. Ifyou do plan
to have a current sensing circuit note that the sensing resistor
MS04 PC mount Cage Jacks 1 Bag/12 each is positioned so that only one-half of the output current flows
EVAL29 PC Board 1 throughit. The currentin both output pins sets will be very close
60SPG00001  Spacer Grommets 4 to the same value. Sensing only one-half of output current
OX7R105KWN 1uF Cap 1825B105K201N, 6 lowers the power dissipation in the current sense resistor.
Novacap 7. Mount trr]\e HS28 heat sing anfd r(1:urrgent _sebnse (rjesis(,]tlor ?(cj)mtf)ina-
. ' tion to the component side of the circuit board and solder from
TS02 Terminal 3p L the circuit side of the circuit board. Be sure to fill the holes with
Beau Interconnect 66507 solder. Tighten the screw that mounts the resistor to the HS28.
TWO5 Thermal Washer 1Box/12each 8. Use #14 sleeving to insulate and align at least 2 opposite pins
ECO05 2200 pf Cap 100V 2 of the amplifier.
United Chemi-Con 9. Add other components to complete your circuit design. Note
82DA222M100KC2D that the solder terminals labeled 2 and 3 are left for you to
connect to the amplifier via the components that you will add for
ECO3 689“': 260V . 3 your particular design.
United Chemi-Con 10. Pushthe four nylon spacersinto the circuit board fromthe circuit
KMH200VN681M25X40T2 side of the circuit board at the four corner locations.
CSR17 0.025 ohm resistor 1 11. Apply TWO5 thermal washer to the bottom of the PA50.Mount
ISOTEK PBV-R025-1 the amplifier to the HS18 heat sink provided and loosely attach
R1 ) hm resistor 1 with #6 screw and nut.
CSR18 IOS%S'I(')E(:( PB\e/?I:OOSO-l 12. Plac_e the assembled (_:ircuit board over the_ pin_s of the amplifier
CSR19 0.100 ohm resistor 1 makl_?g s_urtiz tk;?rt]the plnl_% Ioczlmon totr;]the_ cncm;[[thboard rly}gtch?s
: up with pin 1 of the amplifier. Insert the pins of the amplifier into
ISOTEK PBV-R100-1 the circuit board mating cage jacks.

13. Mount the circuit board assembly to the heat sink with #6 self
tapping or sheet metal screws at the four corners of the heat
sink.

14. Tighten the screws that mount the amplifier to the heat sink via

the access holes in the circuit board.



Http://www.100y.com.tw
Http://www.100y.com.tw
User
新建印章


I B 4% H # A 886-3-5753170 I

JE%% ) LT~ ( 1) 86-21-54151736

EK27 JE 4% J7 W - (5 H1) 86-755-83298787 EVALUATION KIT
Http://www. 100y. com. tw FOR PA50/PA52

) ) | | | / Cage Jack |
/ PC Board (Silkscreen side) | | |'J"| Solder as required
|

iE

/_I 6-32 x 1/2 Lg. Screw

TWO5 thermal washer

sinln

/ Spacer Grommet
|

L]
[

T

VLLLUJJ

\ k J Heatsink I

#8 or #10 Screw (1/2" - 3/4" LG) ‘ ﬁ\ Amplifier
FIGURE 1. Hex Nut 6-32 THD 1/4"
S1G
4 5 1 GND 2 3
Lx ) It x s 1502

9.10

SENSE 1 SENSE Zv

3.4

Figure 2 shows the schematic of the pre-wired
N connections of the EK27. Components which are
$c3,4 $*CI $C7 supplied with the kit are marked *

Components supplied with kit

FIGURE 2. PCB SCHEMATIC.

This data sheet has been carefully checked and is believed to be reliable, however, no responsibility is assumed for possible inaccuracies or omissions. All specifications are subject to change without notice.
his d heet has b fully checked and is believed to be reliable, h bils fi bl 1§ fi b h h
2 EK27U REV. A FEBRUARY 2001 © 2001 Apex Microtechnology Corp.


Http://www.100y.com.tw
User
新建印章


